BuiUN02dYa BWSIA

T AB T 3pIS

£0°£0°6T 020Z'20'9T Pisbury IpIaH AR 39AS.ISIN

o

OZOZ”Z/M

00’0 \ 9g’zsL 0T 00°0 9€‘2SL 0T opjes
T6'8LE 66~ 0T'LLL YOT- S9'0ST 92~ S5'979 84- aiacd 50 TVLIdWINIDI WNS
L¥'0- L¥'0- 000 L¥'0- pioff wns
LY'0- L¥'0- 000 LY'0- uug) 3dg|ed YibAeIaAIBSplag e 1dg|ed 0842
pIof6 B1pyIs10H
PR
v'8LE 66- €4'9/L ¥0OT- S§9'0ST 92- 80'979 8- (aeynsaa “dsipn ‘pjui) jepdeyuabs wng
9¢2SL 0¢- 000 000 000 1e3nsaJ Jsuodsipn
jejnsad Jauodsipn
80929 84- €4'94L ¥OT- S9'0ST 92- 80929 8-
0£'€99 T- 04'€99 - 000 0£'€99 T- Jeulwasgam |13 3epung 1502
8€'296 G4- €0’€TT 20T~ G9'0ST 92- 8€'796 GL- |eadexuabs usuuy 0502
(quafiddo Ho \Nxsuul) [epdexquaby
jendexuabz
alaco 90 TVLIdYIINIDI
T6'8LE 66 95'62S STT S9'0ST 9T T6'8LE 66 YITIANIII WNS
16'8L€ 66 95’628 S2T S9'0ST 92 16'8LE 66
S2'v09 6 A6T'TE9 L 90°€L6 T- SZ'v09 6 £2/6S €0 TTZYT >HewpsH uauegaleds 0Z6T
00'v8L € i+ 00'2LE S 00°88S T 00'¥8Z € la3ueluoy 006T
99066 S8 [ ££'925 C1T TL'SES 9T 99066 S8 960N V1vA DO 1X31S Soy ppmisuul 0#ST
19|prwsdgjwo
R EREl] NENE]
Je 63 nnjs Buripuz as|auuAbaq
1n|spoiiad suapoisad suapoysad
P3A PaA

8T0Z'CT'TE - 8T0Z'TO'TO :4e B) apousd
610Z°ZT'TE - 6T0Z°TO'TO :dpoLad JapR(D

6T0Z'CT'TE - 6T0T 1010 Jesdedjsubay

509892866
eyed 6o Pi3|S MiewpaH

yoddesasuejeqg



